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1 MonteCarlo0 00O OOOOOOOOnO
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2 Monte Carlo ] [

[Wm .G. Hoover, 00000, (000O0O1999), pp.68-70.] OO0 OO
goobobobobooooooooobobobobooDooooooo
000000000000 DODO0O00O0D00U0 exp(—E;)/ET) DO0DODOO
gobooboobobobooboboobooboboboooobobobooooDbo
goobobooboobooooooooboboboboobooooooon
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4 DOO0OO0OOOboOooog

oo oooooooooooooooooooao
ddoodboodboodooobooooooooooooooooooooon
00000000 000bO0oOoonogn Metropolis, Resenbluth 0 O Teller
0000000000000 0000000000I[N.A.Metropolis, A.W.
and M.N. Rosenbluth, A.H. andE. Tellr, J. Chem. Phys. 21, (1953),1087.]
000000DoOooooooOoOoOooDoODoOoODoODoDoDnD AFE = kT O
exp(—AE/EkT)0 000000000000 0OOOODOOOOOOODOODO

_EObSi

(Obs) = ST (2)

00000000000000

00000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000exp(-AE/T)00000000000
000000000000 exp(—E/AT)000000000000 (00O
00)o

3 Monte CarloO0O0 OO OO0

(N,VT) OO DO DOOODODO (canonical ensemble) 00000000
gboobooooooooooboobooooon

STEP_1 r_i=initial configuration

STEP_2 potential energy U_i

STEP_3 select one atom

STEP_4 r_j=try_move

STEP_5 potential eneryg U_j

STEP_6 if (dU=U_j-U_i<=0) {r_i=r_j;U_i=U_j;goto STEP_3;}
STEP_7 else R4=random

STEP-8 if (exp(-dU/kT) > R4) A{r_i=r_j;U_i=U_j;goto STEP_3;}
STEP-9 else {r_i;U_i;goto STEP_3;}

gbobooboobbooboobooobooboboooon

ocooboooboodJoboboboboobobbbobobuobOodgb
gbobooboogooooobboobobooboboobobooboooooo
Op(zx) 0000000000 OOOOOOOOOOOOdOODOOOOOD
p(z) 0000000000000 0O0OOOOOOO dOOOOOODOOO
goobbooo3gol1oo2001og0booboobogoooooboobooo
000000 p(x) 0000000 0COOO0OOOODODOOOOOOODOOODO
000 p(x)DO00O0O0O0O000O0OO0OO0OOOOOOOOOODOO

4 O000O0OO0O0O0OO00O0

[Ueda p90] DO0OO0O0O0OUOO0ODOODOOODOOOOOOOOUDOOOO
mOO0O0000COOOOO0OO 100000000000 0000O0bOoOO



4 DOO0OO0OOOboOooog

List 3.1 NVT OO MCO CodeD OO OO

int reject=0;
double Sum_U=0,TotalU;

double u_i=Energy.Total(); // STEP_2 u_i
TotalU=u_i;

for(int iter=1;iter<=iter_max;iter++){
x=rand_generate (&ix) ;
int select_atom=x*nbase; // STEP_3 select atom

try_move(select_atom); // STEP_4 try_move

double u_j=Energy.Total(); // STEP_5 u_j
double dU=u_j-u_i;

if( dU <= 0 ){ // STEP_6
TotalU = u_i = u_j;
} else {

x=rand_generate(&ix); // STEP_7
if ( exp(-dU/kT) > x){ // STEP_8
TotalU = u_i = u_j;
} else { // STEP_9
reset_move(select_atom); reject++;
}
}
Sum_U += TotalU;

000000oooooooooooooooboo0oddooooooooo
o000 ooooooon
0000000000000 00000000000oOoOoO000 (Markoff
process) 000000000000 0OOOOODOOOOODOOOOOOOO
000o0o0oooooooooooooooodn—ocoddoooong
0000 exp(—=U/kgT)0 000000000000 DOOOODOOOOOO

O000/00000 kO0ODOO000DO0»mOOOOoOooaoo
P Pl = Py, (3)

lm >

uogobobooobobtbooobobooobbooouoobobbooo-00o
00000 (Chapman-Kolmogorov equation)

PV =3P VP, (4)
J

oooo0ooobobo0b k—-1000D0000ODOOODOOOODbODOOD
gboboobobobooobobobobooobobobo

goboooboboooboobpoooboooboooooon

k@fgo]%Si) =Wpm,m=1,2,---,s (5)

000000 w, 0ODDODODOOO mM(sOOOOOO0)0OOODO
Ubdw,000000D0O0ODO

Wy >0m=1,2,---,s (6)
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0000000000 w,0OMMOO k—o0coOO0OOOOO

W = ijij (7)
J

gooooo

00000000000 bOO00bO0ooDo0obOO0oboooDOooOOoD!I0omAon
O00PF >0000000%00000000000!00mO0000
000000000000 000O00DO0DO0oooOOoOoooO [S. Karlin: A
First Course in Stochastic Processes(Academic Press, 1966), 000000
000000000000 (oo0ou1974)|]0o00oooo
0000000000000 00000w, =exp(-U,/kgT) 0000
(nOoooooooooo P,,000D00000(7 00

exp (—Upn/ksT) = > exp(—U;/ksT) Pjm
J
= exp (—Un/kBT) Prm + Y exp (—U;/ksT) Pjm,
j#m
D00000000000

1:Zij: mm+ZPm]
J j#Fm
oooon
> exp (=Upn/ksT) Pmj = Y _ exp (—U;j/kT) Pjp,C
j#Fm j#m
ogooooooo Py00000000000000000000CO0000
exp (—Upm/kT) Ppj = exp (=U;/ksT) Pjy,0 (8)
oboobooboobooboooobobobobjboobobniooon
Pml:lezl:exp(_(Um_Ul)/kBT)D

ooooooogu, > 000dddmdoloooo0 100000000
100 mOO000 exp(— (U —Uy) /kgT)0000000000000000
udoooooboboobobbotbdooooooooboobobooooouooa
00 (8)00D0000000000 (principle of detailed balance) O O O
000000000 000oOoDO0oDO0oDooo0oDOD»mOD(ODODOODOOO
oooooobi/oombOO0UoOoOOoOoO0oOobbOOooobbOOooooDoD
udgoooobobobbtbotbodooooooooboboboooouoogo

5 Uouoboooooon

MCOOOOOOODOOOOOOOOOOOODOOOODODOOO
Ub0O000entropyUD0O0O0000DOODOOO0OO0O0ODODODOOODO
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oo MCOOOOOOOOOOODOOOOOODOOUODOOODOOO

oon
ubooooobobooboobobooboobobobooboobon

000000000000000000000 [Kubo, p.200]

ogooo
Lraviny=sE v, - L (10)
T b ) - b 9 T

oooooooooooono EO

dS(E,V,N) 1

RV 11

oF T (11)

ooooov,r,.NOOOOOOooooooooooooo —F/TD SO0

O@oooo rO0 1/TDDDD)LegendreEID1DDDDDDDDDD
goooo

o0oooooooooo S0 1Y/T-EOODOOOOOOO F/TO E-1)T
coboooboooobooobooooobOooboOobooboooboOon
ocoooMCcOOOOODOOOO F—TOOOODOOOODOOOODOO

cobooobooooobooooboooobooboooob TOOO
ooooboooboooobooboobookKOOobobouooboobobooo
cobooobooooooboooooboOooboobooboooboOon
gbobooboooobooooboobboobobooobobooboooooo
coobobooobooooboooooouooobooobobooooboooOooooDo
Frenkel DOOOO0O00O0O EinsteimnOOOOOOOOOOOOOOCOOOO
00000000 [Bennett76]00 00000000 Einstein model 0 0 OO
Frenkel 000 00000O00O0OO [?7]000000000000O00OO

oogooboobobooooooobbobooooboobooboboooooonon
oo

S(E) = d L

= | FEE s (13)

[Kubo, p.85) 00000000 (L)0000000000 a,y,2,...000000
dL = Xdx + Ydy + Zdz + . ..

0000000000 (Pfaff00)00000ODOOX,Y,Z,...0 z,y,2,.. 000000000
O0o0LooOd

L - L =1L - Xx
TylY, 2y — vaaza"'
dL = —xdX +Ydy +Zdz +---

0000 Legendre0 00O OOO



S5 Ubbhuooogobbod 5.1 FEinstein U 0 O

000000000000 (reference state) 000000000 O00OOOT
gboooooooogood
E 1 dE()

SE) = [, 7 ay S (14)

ooooogno

5.1 Einstein 00O

[Kittel, p.120 or Takahashi p.212] 00 w D00 OO0O0O00OO0OOO0O
O (nhw0000MOOOO0O0OO (Planck distribution)

(n) = (15)

1 1
-~ = =coth—+ 1
(n>+2 5 €O T (16)
ooooood
EnsteimOOOOOOOOOO0OOOO0O0OOOO0OOOOOOOOOOO
0000000000003 000 NOOOOOOoOoooooooooono

Zo = <1 - exp(l—hw/7)>3N (17)

U = 3N (n) hw — # (18)

ooooooodr=kpT00oooon

o= (35), o () o

ooooououn

OO00O0OMapleDODOOOUOOoOoOoonoonoOg
> restart;
> U:=(x)->1/(exp(1/x)-1):
> dl:=unapply(diff (U(x),x),x):
> plot(di(x),x=0..1);
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0.8-
0.6
0.4-

0.2

> int(U(1/x),x);
In(e” — 1) — In(e®)
> F:=x->In(exp(x)-1)-1n(exp(x));
F:=z —In(e® —1) —In(e")
> plot(F(1/x)*x,x=0..1);

X

0.1 |
0.2 -
0.3 |

0.4




S5 Ubbhuooogobbod 5.2 Frenkel

5.2 Frenkel [l

0000000000 [Frenkel86a, p.171]0 000000000 Hamil-
tontan 0 AOO0O HA)ODOOOfreeenergy O AODOODOOODODO

F(\) = —kTIn (ﬁ / exp[—BU(N)]dgY ) (20)

U00000O0o0o0obD0o0oAODO0ODODO0OOODO kinetic energy
O parameterizations [ analytic0 OO0 00 O0O0O0OOOOOOOOOOOO
O0000UW\WDDOO F(A=000000000FA=1)00000 free
energy 0000000000 ODO (COODODOODO)

OF(N) _ [ %55 expl-BUN)]da" _ (2000 o)
oN ~ Jexp-BUMN]da" ox /)
00 F(A=1)0
1 /
FA=1)=F(\=0) +/0 <alg(; ) >X dX (22)

D000000000000000 (QU(A)/0A),00 00 Hamiltonian H())
000000000000 (mechanical quantity) OU(X)/OA O canonical O
0000000000000ooooo (MCOoMD)ODOODDOOOoOOoOoOoO

Einstein 000000 Freeenergy D 0O 000000 O0OO0OODOOO0O
obobooboobooooo

N
UN) = XU+ (1= N) (KZ(ri—ré)2+Uo(réV)> (23)
i=1
000 U, 0000000000000D0000O000O00O0O0OODO0
0000000 vU(r)DODOO0O0OO0OO0OO0O0ODO0DO0DOOOOOODODODOO N
ooo0obooobobbD KOobobooobouoooboooooooooo
O0000000000A=10000\N000000000000A=00
00U\ DODODOCOO0OO0 EnstenO0000O000OO0ODOO0O0O0OO0O0OOOODOO
OO0 KO EinsteinDOOOOOOOOOODOO unperturbedd OO O
oooboooobooboboboboo
FinsteinODOODODOOOOOOODOOODOOODOOOOODOOODOOOOD
ooooooouobooooboooooooooooooooo

N
- <v<rN> VoK) - r3>2> 29

0000 10-point 0 Gauss-Legendre 0 0 0 O Bennett O overlapping-distribution
ooooooog

5.3 Uooooon

00000000 periodic boundary condition 0O OO OODOOOO0O
O0000O0O0OOFrenkelDOA =1000000000D000O0O0O00OOOODO
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air potentia lattice , ar potential
oundary

. \

B s : S w

%%%%}éégggﬁﬁ | S EANSSRSES

N

\

N

W

instein boundary

(a) Periodic boundary (b) Einstein boundary (c) Double boundary
condition condition condition

0 1: 00O boundary condition O O O O

U00000b0o00ooo0ddriftd 0000 rotation 00 000OO0OODO
0 O Einstein potential D 000000000 DOOOOODOODODO Einstein
potential I 0 000000 DO0OO0OOOOAN =10000000000DO0O0O
000000000000 0000000o0oOO0DOOoDOOooDOooooooon
00000O00O000O0bOO000OO0bO0bDOOooODOO0ooOO0boooOOonDOooDO
00 00 boundary condition 00 periodic boundary condition 0 O 0O O O
0000000000 boundary condition0 000000000000 OO0O
0000000000000 00O000000000000O00O0Od (Einstein
00)00000000000000000000 EinsteinOO0000O0O pair
potential 1 00D 00O 0O0O0OODOO0ODODOOODODOOOboundary 00
000000000000 0O00000bOO0bOO0DOOoOOoDOooOooooon
oodooooouooooobooooboooooooo
000000000000 10000 Einstein 000 boundary 0 00O
ooooboboOd drift0 000000000 0ODOO0O0DOODOOOObDOD

00000000000000000(%A)000000000000 pair

potential 0 00 0000000000000 0OO0O0OOOOODO 1(¢)00O0O
DDDDD<8%—E\/\)>DDDDDDDDDDDDDDDDD pair potential O [J
O boundary OO0 O OD0OOO0OOOOOODNO Einstein boundary D 00 OO
OO00O0OOpotential 00 ODO00OO0O0OODOOOO0OOODOOODOOOODO
0000000000000 0000000000D0O0O boundary condition
oooboboboboa=100000000O000ODLDODODODUODUODOO
00000O00O000O00O0000000D00oDO0oDoDO0oboooOooDOooDo
0 1(b) DO 0ODO single boundary 0000000
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6 Doooogn

6 LUOOoooag

Frenkel DO OO O0OOOOOODOOOOOODOOOOOOODOOO
1. NPpTOUOOOOODDOODODOOOOOODDOOOOO sigmaOD0O0OO
2. 000VTo0oADOOOOOdu/dlDDOODO

3. Lambda0OO0O0O du/dlOOO

6.1 mcUUOOONO

mc (return)

O interactive U0 OO 0O0O0O0O00D0D0DODDDOOOOO input 0000

List 6.1 interactive0 mcO0 OO O0O00O0O

asura7/home/bob/MC# mc

Thu May 10 22:13:42 2001

Monte Carlo simulator developed by S.R.Nishitani with CodeWarrior.
Use default values?[Y or N]

If you want input format, type ’input’:n

MC mode, O:NVT, 1:NPT, 2:FRENKEL[1]? 1

Lattice O:inter-, 1:on-site, 2:Eisntein[0]? O

Potential, O:Lennard-Jones, 1:EAM[0]? O

Max iteration[200]7

ERERN

input.dat 0000000000000 O00O0O0O00OO00O0O0OOO0

List 6.2 input.dat

no //Use default Yes or No

1

1

0

200 //Max iteration

10 //Sampling Interval

100 //Average start iteration
600 //Temperature in Kelvin

0 //Pressure

0.01 //Atom move delta

0.01 //Volume adjust d

1.0 //Lambda for du/dl
0.7172472961 //0.7071067810 //sigma for volume
2 // Lattice size

0 // 0:FCC, 1:BCC

1.2 // R_cur for mkNeiborList

11



6 0

gooooo 6.2 JO00oooooood

CommentStrip input.dat | mc(return)

UO00Q0O00ObObODbObODbOO0O0000 parameters [ Potential.parameters
ooooogo

6.2 UUOOUUOOOooon

UO0O0D00O0O0D0O0O00DQ Potential.parameters 00O ODOOOOMO
00 (0)00000000000000oODOOshOODOOOOOOOOO
U0 home directory 000 OO0 O OO OPotential.parameters 0 000
000000 CommentStrip0 0000000

List 6.3 Potential.parameters

//LI

// Einstein E_O + K_const*r~2;

//X_const E_O

//5.43 -2.1331647183

//5.43 -2.478314561

5.43 -2.4780

// LJ r=sigma/dist

// Ax (M*1r'N-N=*r'M;

//R_CUT2 A M N

1.8 0.355527452 5.5 9.0
//EAM

// r=dist_O*norm(ij_vec)/sigma;

// Einstein E_O + K_const*r~2;

//K_const E_O dist_0=3.307%0.8660254;
//4.5 -2.424844794 2.863945998

4.5 -4.963364087881271 2.863945998
// double r = sigma/dist;

// cutting = -(r2/rc/r) nc + (rl/rc) nc;

//r1 r2 rc nc

0.8660254 0.8660254000 1.4 7.5
// double r = sigma/dist;

// rep = AA * exp(-pp/r+pp) * exp (pp*cutting);
// hop = BB * exp(-qq/r+qq) * exp (pp*cutting);
//R_CUT2 AA BB PP qQq

1.8 0.177621 2.020161 12.6 2.8

6.3 NPTUUUooooooooooo

O0D0000 sigmad 0 00O0OTempConrtol U O OO shell script OO OO
O00OOinput.dat200 0000000000 0OTempearture [ Values O [
O00000000sh0000000CO0ODOOOOOO00OO0 all.table
O00000000000000 alll.table0O0O0O000O0O input.dat20
00000000 OmecODODODODOCOOOmputODODODODOOCOOOCOO
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6.3

NpTOOOOOOOoOooooooo

List 6.4 TempControl

#!/bin/csh -f
set Values=(\

"10m\
"100"\
"200"\
"400"\
"500"\
"600"\
"800")
@ index

while (

=0

$index<7)

@ index2 = $index + 1
sed "s/#TEMP/$Values[$index2]/" input.dat2>input.tmp
echo "#TEMPERATURE:" $Values[$index2] >asura$index.res
CommentStrip input.tmp>input.tmp0
rsh -1 bob asura$index ~/MC/mc<~/MC/input.tmpO>>asura$index.res &
echo asura$index
@ index++

et

ime_count=0

while ($time_count<600)

end
end

wait

grep "#

@ time_count++

" asurax.res > all.res
awk -F: ’{print $3}’ all.res | formatter > all.table

List 6.5 all.table

asura7/home/bob/MC# cat

all.table

10, -2.477125182183769 , 0.000000000000000 ,0.717147258728626,
100, -2.465690575472639 , 0.000000000000000 ,0.716056577752542,
200, -2.452357993999382 , 0.000000000000000 ,0.714870891114268,
400, -2.426005733886823 , 0.000000000000000 ,0.712850615366218,
500, -2.414156661513016 , 0.000000000000000 ,0.711557231257863,
600, -2.399422049141447 , 0.000000000000000 ,0.710291050642509,
800, -2.373286283944128 , 0.000000000000000 ,0.708009021872868,
List 6.6 alll.table
10, -2.131883687431261, 0.706997624306225,
100,-2.120846545495993, 0.705831470021174,
200,-2.107144582107388, 0.704502548187933,
400,-2.080422434016538, 0.701652715731670,
500,-2.065335644938758, 0.700378503280130,
600,-2.053725326418318, 0.698910740741895,
800,-2.023790068268947, 0.696082282455625,

13



6 Doooogn 6.4 du/dl0 LambdaO O

List 6.7 input.dat2

no //Use default Yes or No

1

1

0

3000 //Max iteration

10 //Sampling Interval

1000 //Average start iteration
#TEMP //Temperature in Kelvin
0 //Pressure

0
0
1
0

2
0
1

.01 //Atom move delta
.01 //Volume adjust d
.0 //Lambda for du/dl
.707106781 //sigma for volume
// Lattice size
// 0:FCC, 1:BCC
.2 // R_cur for mkNeiborList

6.4 du/dl0 Lambdal[O

00000 VT OOLambdaControl O Lambda 000000 du/dlO0
O000Allcalc00000000O00O0O0O00OOO0OO0OOOOO du/dlO
LambdaOODOOODOOO

6.5 du/dl000

Lambda OO OO du/dl0D 00000000 it0D0000O00O0ODO fit
OoooboooooooooooooonoooobDbD legbbooooonO
OoobbooddbdLambda=0000000000D0O0O0OOODOOOOOODO
ooo-01oogooooooobooobobbboooooooLJooooo
UboboooooobDoboobooboobobob0ob0bOnUOFreeE. txt
0

maple < FreeE.txt
cat FreeE.res >> final.table

000000 maple script
> restart:with(stats) :with(plots):with(linalg):
> data:=readdata("datal.res",4):

Warning, the name changecoords has been redefined

Warning, the protected names norm and trace have been redefined and
unprotected

> yO0:=+1+datal[1] [3];

> datal:=map(u->[u[1],u[3]],data):

y0 = 1.010223906

nn:=nops(data):
for i from 1 to nn do
datal[i] [3] :=datal[i] [3]-yO0;
od:

vV V V V

14



6 Doooogn 6.5

du/di0 00

List 6.8 LambdaControl

#!/bin/csh -f
set Values=(\
"0.0"\

"0.1m\

“0.4"\

"0.7"\

IIO.SII\

"0.9"\
"0.99")

Q@ index=0

while ($index<7)
@ index2 = $index + 1
sed "s/#LAMBDA/$Values[$index2]/" input.dat.lambda>input.tmp
echo "#LAMBDA:" $Values[$index2] >asura$index.res
CommentStrip input.tmp>input.tmpO
rsh -1 bob asura$index ~/MC/mc<~/MC/input.tmpO>>asura$index.res &
echo asura$index
Q@ index++
Q@ time_count=0
while ($time_count<600)
@ time_count++
end
end

wait

grep "#" asurax.res > all.res
awk -F: ’{print $3}’ all.res | formatter > all.table

List 6.9 input.dat.all

no //Use default Yes or No
#MODES

#FINISH //Max iteration
#INTERVAL //Sampling Interval
#START //Average start iteration
#TEMPERATURE //Temperature in Kelvin
0 //Pressure

0.01 //Atom move delta

0.01 //Volume adjust d

#LAMBDA //Lambda for du/dl
#SIGMA //sigma for volume

2 // Lattice size

0 // 0:FCC, 1:BCC

1.2 // R_cur for mkNeiborList

15
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6.5 du/dl00O0

List 6.10 All_calc

#!/bin/csh -f
#
#

# for WARIKOMI p.234
set Values=(\

II0.0"\

"0.1"m\

“0.4"\

“0.7"\

"0.8"\

“0.9"\

"1.00")

onintr catch
if ($#argv<2) then

echo "Usage: $0 start_step finish_step (sampling interval=10)"

exit 1
endif

set start=$1
set finish=$2
if ($#argv>2) then
set interval=$3
else
set interval=10
endif

sed -f MODE_NPT input.dat.all>tmp
sed "s/#FINISH/$finish/\
s/#INTERVAL/$interval/\

s/#START/$start/\
s/#LAMBDA/1.0/\

s/#SIGMA/0.707106781/\
s/#TEMPERATURE/#TEMP/" tmp > input.dat2

./TempControl

echo "Subject: [calc] Whole loop " $1 "-" $2 " with " $3 " step" > final.table

date >> final.table

cat all.table >> final.table

16
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ggooooao 6.5

du/di0 00

List 6.10 All_calc(continued)

sed
sed

-f MODE_FRENKEL input.dat.all>tmp
"s/#FINISH/$finish/\

s/#INTERVAL/$interval/\
s/#START/$start/" tmp > tmpl

set

list="all.table"

@ index_temp=1
while (${index_temp}<8)

set sigma=‘sed -n "${index_temp}p" all.table|awk -F, ’{print $43}’¢
set temp=‘sed -n "${index_templtp" all.tablelawk -F, ’{print $1}’°¢
echo $temp $sigma

sed "s/#TEMPERATURE/$temp/" tmpl>tmp2

sed "s/#SIGMA/$sigma/" tmp2>input.dat.lambda

@ index_temp++

@ index_lambda=0

while ($index_lambda<7)
@ index_lambda2 = $index_lambda + 1
sed "s/#LAMBDA/$Values[$index_lambda2]/" input.dat.lambda>input.tmp
echo "#LAMBDA:" $Values[$index_lambda2] >asura$index_lambda.res
CommentStrip input.tmp>input.tmp0
rsh -1 bob asura$index_lambda ~/MC/mc<~/MC/input.tmpO>>asura$index_lambd

a.res &

end

echo asura$index_lambda
@ index_lambda++

@ time_count=0

while ($time_count<1200)
@ time_count++

end

end

wait

while ($time_count<1200)
@ time_count++

end

grep "#" asurax.res > all.res

echo "Temperature:"$temp ", Sigma:" $sigma >> final.table

awk -F: ’{print $3}’ all.res | formatter >> final.table

awk -F: ’{print $3}’ all.res | formatter | sed ’s/,/ /g’> datal.tmp
maple < FreeE.txt

cat FreeE.res >> final.table

date >> final.table

exit O

catch:

onintr -

echo "Interruped on mailing \"
echo $name

exit 1

17
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List 6.11 MODE_NPT

/#MODES/ c\

1\
1\
0

List 6.12 MODE_FRENKEL

/#MODES/ c\

2\
2\
0
> data2:=map(u->[ul1],log(-ul3])],data):
> data3:=convert(transpose(convert(data2,array)),listlist):
> fit2:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x"2+c3*x"3+cd*x"4+c5*x"5,
> {c0,c1,c2,c3,c4,c5}]](datald):
> f2:=unapply(rhs(fit2),x):
> p_l:=plot(data2,color=blue,style=POINT):
> p_fl:=plot(£f2(x),x=0.0..1.0):
> display(p_1,p_f1);
0.035
0.03 -
0.025 1
0.02 -
0.015
0.01 -
0.005 -
B 0.2 0.4 0.6 0.8 1
> p_l:=plot(datal,color=blue,style=POINT) :
> p_fl:=plot(-exp(£f2(x))+y0,x=0.0..1.0,color=red):
> display(p_1,p_f1);

18
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0.01

0.005

o

—0L005

—0.01

-0[015

—0.02

-0[025

> evalf(int(-exp(£f2(x))+y0,x=0..1));
—.004209809713

List 6.13 FreeE.txt

interface(quiet=true);
with(stats):with(linalg):

data:=readdata("datal.tmp",4):
datal:=map(u->[ul1],u[3]],data):
nn:=nops (data) :

y0:=0.1+data[1] [3]:

for i from 1 to nn do

data[i] [3] :=data[i] [3]-yO:

od:

data2:=map(u->[ul1],log(-ul3])],data):
data3:=convert (transpose(convert(data2,array)),listlist):
fit2:=fit[leastsquare[[x,y], y=cO+cl*x+c2xx~2+c3*x~3+cd*x"4+cb*c”5, {c0,cl,c2,c3
,c4,c5}]](data3d):
£2:=unapply (rhs(£fit2),x):
result:=evalf (int (-exp(£2(x))+y0,x=0..1)):
writeto("FreeE.res"):
printf("Integrated Free Energy: %15.10f\n",result):
writeto(terminal):

interface(quiet=false):

6.6 UUOO

02000000000 (final.table)d

19
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6.6 oo

List 6.14 final.table

Subject:
Tue May 8 15:31:57 JST 2001
-2.477125182183769 ,

10,
100,
200,
400,
500,
600,
800,

-2.
-2.
-2.
-2.
-2.
-2.

[calc] Whole loop

465690575472639
452357993999382
426005733886823
414156661513016
399422049141447
373286283944128

Temperature:10 , Sigma: O.

0.0,

>
>
>

>

coooo
© 00 N

>

1.00,

0.0,

>
>
>

>

O O O OO
© 00 N =

s>

1.00,

0.0,

>
>
>

>

o O O O o
© 00 N b=

>

1.00,

0.0,

>
>
>

>

coooo
© 0 N

>

1.00,

-2.
-2.
-2.
-2.
-2.
-2.

476701623880100
476720986190981
476778250327854
476882046602075
476937013338801
476998368607434

-2.477038153128471
Integrated Free Energy:
Tue May 8 15:55:30 JST 2001
Temperature:100 , Sigma: 0.716056577752542

-2.
-2.
-2.
-2.
-2.
-2.

465020783396086
465272518352583
465172879565767
465202503524778
465323841928730
465219650675531

-2.465379529370471
Integrated Free Energy:
Tue May 8 16:19:07 JST 2001
Temperature:200 , Sigma: 0.714870891114268

-2.
-2.
-2.
-2.
-2.
-2.

452256801892137
452311169949720
452112201734125
452285650679872
452282314546932
452106837752670

-2.452535987557672
Integrated Free Energy:
Tue May 8 16:42:50 JST 2001
Temperature:400 , Sigma: 0.712850615366218

-2.
-2.
-2.
-2.
-2.
-2.

426369381144002
426711870253616
426601228812481
426080581459298
426357735505321
426483859273380

-2.425898432463118
Integrated Free Energy:
Tue May 8 17:06:40 JST 2001

1000 - 3000 with 10

step

0.000000000000000 ,0.717147258728626,

, 0.000000000000000
, 0.000000000000000
, 0.000000000000000
0.000000000000000
, 0.000000000000000
, 0.000000000000000
717147258728626
, —0.000122886878287
, —0.000472997395306
, —0.001291754731917
, —0.002144085687763
, —0.002491942995084
, —0.002757535109488

s

, —0.003118735991222 ,0.717147258728626,

-.0015999012

, 0.002196702395315
, 0.001631433762620
, —0.000580146149604
, —0.003165060215822
, —0.004612194320478

,0.
,0.
,0.
,0.
,0.
,0.

,0.
,0.
,0.
,0.
,0.
,0.

,0.
,0.
,0.
,0.
,0.

716056577752542,
714870891114268,
712850615366218,
711557231257863,
710291050642509,
708009021872868,

717147258728626,
717147258728626,
717147258728626,
717147258728626,
717147258728626,
717147258728626,

716056577752542,
716056577752542,
716056577752542,
716056577752542,
716056577752542,

, —0.005728138705347 ,0.716056577752542,

, —0.008630049803430 ,0.716056577752542,

-.0018030357

, 0.004868463548284
, 0.003440828673914
, —0.000431509346245
, —0.004800091857096
, —0.007035293879867

,0.
,0.
,0.
,0.
,0.

714870891114268,
714870891114268,
714870891114268,
714870891114268,
714870891114268,

, —0.011470899722679 ,0.714870891114268,

, —0.014354358677830 ,0.714870891114268,

-.0026330645

, 0.010223905702848
, 0.007987694388592
, 0.000323941166345
, —0.009917573728701
, —0.013165754021106

,0.
,0.
,0.
,0.
,0.

712850615366218,
712850615366218,
712850615366218,
712850615366218,
712850615366218,

, —0.019817539919035 ,0.712850615366218,

, —0.026527886937421

-.0042098097

,0.712850615366218,
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6.6 oo

List 6.14 final.table(continued)

Temperature:500 , Sigma: 0.711557231257863

0.

cocoooo
© 00 N

1.

0,
>
>
>
>

>

00,

-2.413260214044746
-2.413995105962358
-2.413635417097108
-2.412564716473067
-2.414003747668451
-2.413307182659751
-2.413127209028266

Integrated Free Energy:
Tue May 8 17:30:19 JST 2001
Temperature:600 , Sigma: 0.710291050642509

0

ocoooo
© 00 N H

1

.0,

>

>

>

>

>

.00,

-2.401062343150187
-2.400928096510216
-2.400407552777581
-2.400369935572356
-2.399955553625667
-2.400994817491678
-2.400221856442155

Integrated Free Energy:
Tue May 8 17:54:04 JST 2001
Temperature:800 , Sigma: 0.708009021872868

0.

o O O O o
© 00 N =

1.

0,
>
>
>
>

>

00,

-2.373772442322081
-2.374423260444426
-2.374655047081285
-2.375215606030175
-2.373858276444851
-2.374074142484935
-2.373570137950830

Integrated Free Energy:
Tue May 8 18:17:48 JST 2001

s

s

>

>

>

0.012365732825709
0.009061782279548
0.000546519197662

-0.014023912426861
-0.016305736517589
-0.021950945742296
-0.033422314574031
.0054804125

0.014280756513975
0.010972145150600

-0.000562270122532
-0.014268969275385
-0.022026332361379
-0.028199627211893

,0.711557231257863,
,0.711557231257863,
,0.711557231257863,
,0.711557231257863,
,0.711557231257863,
,0.711557231257863,
,0.711557231257863,

,0.710291050642509,
,0.710291050642509,
,0.710291050642509,
,0.710291050642509,
,0.710291050642509,
,0.710291050642509,

-0.050763889656300 ,0.710291050642509,

.0074673399

0.019110573465948
0.014947792481552

-0.002250677002858
-0.019147495800667
-0.033666054870812
-0.045489139855569

,0.708009021872868,
,0.708009021872868,
,0.708009021872868,
,0.708009021872868,
,0.708009021872868,
,0.708009021872868,

-0.064315275727469 ,0.708009021872868,

.0114062586
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7 MOMENTOO FRENKELOOOODOODO 6.7 DOOOOODOODOO

6.7 UULOOLOUOOOUO

oooooboobobobOoOooooooooopoboboooobobobDOoDDoD
Chcek[1 0 OO OO O shell scripts ChangeInput CommentStrip[lall kill
ooo

List 6.15 Check

#!/bin/csh -f
set Values=(\
"1 0 1.0"\
n 1 n
n 1
||2
II2
||2
II2

(SR

NNFPOR P O
O OO Oo

O O O O+
o oo oo o

echo ‘date‘ > test.res

while ($#Values)
ChangeInput $Values[1] > input.tmp
echo "#" $Values[1] >> test.res
./CommentStrip input.tmp | mc >> test.res
shift Values

end

grep "#" test.res > all.res

List 6.16 Changelnput

#!/bin/csh -f

sed "s/#MC/$argv[1]/;s/#BOUND/$argv[2]/;s/#POTEN/$argv[3]/;s/#LAMBDA/$argv[4]/"
input.dat >input.tmpl

cat input.tmpl

7 moment ] FrenkelD OO O OO O

O0LJO0ODO00D00000O0moment U0 Frenkel O OODOOODO
oooooo

7.1 Potential
Moment OO0 OO0OO0OO LJOOOOOOOOOO

Ylr) = mlz n [n (T?O)m - (2)1 (2)

O00000000000000erg(Kelvin)-mO Uy = O 28760.49148K 0 O
uboooooooooooooooon
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7 MOMENTOO FRENKELOOOODOODO 7.1 Potential

List 6.17 CommentStrip

#!/usr/bin/perl
# Chop "//" type comments from files
# by S.R.Nishitani 27/2/01

foreach $current_file (QARGV){
open(INPUT, "$current_file") || die "can’t open $current_file $!\n";
$delim="//";
# $delim="#";
while (<INPUT>){
# s/\s//g;
$num=index($_, $delim);
if ($num<0){
print $_, if $_ ne "";
# print $_,"\n" if $_ ne "";
} elsif ($num > 0){
$outline=substr($_,0,$num);
print $outline,"\n";

}
}
print "\n";
close (INPUT);

}

List 6.18 all kill

#!/bin/csh -f

if ($#argv<1l) then
echo "Usage: $0 killing_process"
exit 1

endif

ps -edf |grep $1 |awk ’{print $2}’ > /tmp/AD1$$
set line=‘wc /tmp/AD1$$|awk ’{print $1}’°
set ii=1
while ( $ii < $line)
set number=‘sed -n "${ii}p" /tmp/AD1$$*
echo $number
kill -9 $number
Q ii++
end

rm /tmp/AD1$$

exit O
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7 MOMENTOO FRENKELOOOODOODO 7.1

Potential

so far UO=Kelvin unit, while psaiO,psai=erg unit (99/8/15)
U0_eV=U0%8.617385e-05;

psail_eV=psailO*6.2415064e+11;

UO_eV/psaiO_eV = boltz_con:=1.380658e-16;

OeVOOOOOUOO-2478eV0OUOODOOOMO MapleODOODO

V V V V V V V V VvV

vV V V V

restart:
psi:=r->DD/(m-n)* (n*(r0/r) "m-m*(r0/r) "n) :
m:=9:

n:=5.5:

r0:=2.5487e-08:

DD:=4125.70:
erg:=1.60219e-12:#1eV=1.60219e-12 erg
Bolt_const:=1.38061e-16: #erg

1/erg;

12
.6241457006 10

r_eq:=fsolve(diff (12*psi(r)+6*psi(r*sqrt(2)),r)=0,r=r0);
evalf (r0/r_eq/sqrt(2));

-7
r_eq := .2512666221 10
7172472961

U:=r->evalf (12*psi(r)+6*psi(r*sqrt(2)))/2:
U(r_eq) /erg*Bolt_const;
U(r0)/erg*Bolt_const;

DD/erg*Bolt_const;

-2.478296715
-2.466683578
.3555123099

mc00000000000000000000000 00000000
000 (ro/req)/v200000000000DDOeVOOODO00.35550
ooo

bbb wbOOooooo kb0 mubooD

(26)

0000000 1/s000000kD eV/A200 SIOO0 J/m? =kg/s? 0
0000000000000000000 w0

>Abogadoro:=6.02217e-23:
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7 MOMENTOO FRENKELOOOODOODO 72 MDOOOO

2.56

Nearest neighbor distance[A]
N
@

255 k

2.54 1 1 1 I 1 1 1
0 100 200 300 400 500 600 700 800

Temperature[K]

O 2 MCOMDOOOOOOODOOODOOOOOODOOOODOO

> k_prime:=k*ergx10~(-7)/(107(-10))"2:#eV/A"2->J/m"2
> M_prime:=M%10~(-3)/Abogadoro:# Relative atomic mass -> real atom mass
> omega:=sqrt(k_prime/M_prime) ;
-9
omega := .9822759566 10  sqrt(k/M)

oood

7.2 MDUOOUOU

gooboooooMbOUOoOooobooDooboboobobooDbo
gbooboboboooooooooobobobooboooboooooon
oobooooboooooboobodbUbFenkel D0 0OODOOODOODO
OO0 Einstein model 0 0000000000 DOOOOOODOO

DDDDDDDDDDDDDQDDDQQDDDDDDDDDDDD
0000d0ooooo0o =44 +24 00000000000
gobog Z(w):%DDDDDDDDDDDDDDDDDD

O0O00E,=(n+1/2he 0000000000000O0O0O0O

-1
Z(w)=[2sinh 4| 00ODDOODOOO00OO0O000

gbooboboboboboboo
gbobgooobobooboobooobooooboobooboononbo
oooo0D0O0 wbOOOOOODOOODOOODOOODOODO
gboogbooooboooobooobo %“’DDDDDDDDDD
oogg
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-2.02

-2.04

-2.06

-2.08

Energy [eV/atom]

[ I I 1 I I I 1
0O 100 200 300 400 500 600 700 800

Temperature [K]

O3 MCOMDODOODODOOOOODODODODODODOOOOOODO

-2.05

-2.1

-2.15

-2.2

Helmholtz free energy [eV/atom)]

-2.25

| | | | | |
0 100 200 300 400 500 600 700

-2.3

Temperature [K]

O 4 MCOMDODODODODOOOOODODODODODODOOOOOODO
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7 MOMENTOO FRENKELOOOODOODO

7.3 MomentOQOQOQOQO

7.3 Moment O QOO

OO00O000DO0Od MomentDOQOD QOO

List 7.1 Moment.res

#T (K) rl al Uo harmonic free
10.00 2.51357 3.55472 -0.28760E+05 0.49962E-13 0.16447E-15
100.00 2.51723 3.55989 -0.28758E+05 0.45410E-13 0.21289E-15
200.00 2.52162 3.56611 -0.28752E+05 0.18229E-13 0.49112E-15
300.00 2.52645 3.57294 -0.28740E+05 -0.28883E-13 0.98706E-15
400.00 2.53175 3.58043 -0.28721E+05 -0.90727E-13 0.17149E-14
500.00 2.53766 3.58879 -0.28694E+05 -0.16445E-12 0.27004E-14
600.00 2.54438 3.59830 -0.28655E+05 -0.24849E-12 0.39815E-14
700.00 2.55231 3.60951 -0.28599E+05 -0.34219E-12 0.56172E-14
800.00 2.56223 3.62353 -0.28513E+05 -0.44591E-12 0.77164E-14
900.00 2.57644 3.64364 -0.28364E+05 -0.56246E-12 0.10556E-13
List 7.2 mc.res
#temp Internal E du/dl sigma Integrated du/dl
10 -2.477125182183769 0.000000000000000 0.717147258728626 .0015999012
100 -2.465690575472639 0.000000000000000 0.716056577752542 .0018030357
200 -2.452357993999382 0.000000000000000 0.714870891114268 .0026330645
400 -2.426005733886823 0.000000000000000 0.712850615366218 .0042098097
500 -2.414156661513016 0.000000000000000 0.711557231257863 .0054804125
600 -2.399422049141447 0.000000000000000 0.710291050642509 .0074673399
800 -2.373286283944128 0.000000000000000 0.708009021872868 -.0114062586

> restart:with(plots):

Warning, the name changecoords has been redefined

> Avogadro:=6.02217e+23:
ergtoeV:=1.60219e-12:
ergtoJ:=1.0e7:
k_B:=1.38061e-16:
k_B:=k_B/ergtoeV;
hbar:=6.62620e-27: #erg
hbar:=evalf (hbar/ergtoeV/2/Pi);

k_B :=.00008617017957

hbar := 658219364310~ 1°
A:=readdata("moment.res",6):
A0 :=map(u->[ul1],ul2]],A) :#Lattice Const [A]
Al:=map(u->[ul1],ul4]*k_B],A) :#Internal Energy [
A2:=map(u->[ul1] ,ul4]*k_B+ul[5]/ergtoeV],A) :#Harmonic Free Energy
A3:=map(u->[ul1],ul4]*k_B+(ul[5]+ul6]) /ergtoeV],A) : #Free Energy
B:=readdata("mc.res",5):
r_eq:=2.5487:
BO:=map(u->[ul1],evalf(r_eq/ul4]/sqrt(2))],B):
pl:=plot(A0,linestyle=1,legend="moment"):
p2:=plot(BO,linestyle=2,legend="MC"):
display({pl,p2},title="Lattice Constant");

tterg

V V.V YV VYV

VVV VVYV VVYVYVYV
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7 MOMENTOO FRENKELOOOODOODO 7.3 Moment OO OO

Lattice Constant

2.57 -
2.56 -
2.55 1
2.54
2.53 1
2525
0 200 400 600 800
Legend
———— moment
”””””””””” MC
> M:=63.546:# M_Cu
> k:=5.43%2:#5.416914305;
> U0:=-2.4780:
> k_prime:=k*ergtoeV*10~(-7)/(1e-10) "2:#eV/A"2->J/m~2=(1/sec)
> M_prime:=M*10"(-3)/Avogadro:# Relative atomic mass -> real atom mass
> omega:=sqrt(k_prime/M_prime);

w = .4060731902 10'4
T:="T’ :#for repeated apply
theta:= k_B*T:
xx:= evalf (hbar*omega/(2*theta)):
T_list:=[10,100,200,400,500,600,800] :
B1:=[]:B2:=[1:B3:=[]:
for i from 1 to nops(T_list) do
T:=T_list[i];
FF:=3*theta*(1ln(1-exp(-2%xx))+xx)+U0;
Bl:=[op(B1),[T,B[i] [2]]]: #Internal Energy
B2:=[op(B2), [T,FF]]: #Harmonic Free Energy
B3:=[op(B3), [T,FF+B[i] [6]]]: #Total Free Energy

pl:=plot(A3,linestyle=1,legend="moment"):
p2:=plot(B2,linestyle=2,legend="MC_Harmonic Free"):
p3:=plot(B3,linestyle=3,legend="MC_total Free"):
display({pl,p2,p3},title="Total Free Energy");

VVVVVVVVVYVVVVVVYV
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7 MOMENTOO FRENKELOOOODOODO 7.3 Moment OO OO

Total Free Energy

[2.45
—2.5 1
12,55 -
—2.6 -
2.65
2.7 -
2,75 -

O 200 400 600 800
Legend
—  moment
——————————————————— MC_Harmonic Free
—————————————————————— MC_total Free

> pl:=plot(Al,linestyle=1,legend="moment"):
> p2:=plot(Bl,linestyle=2,legend="MC"):
> display({pl,p2},title="Internal Energy");

Internal Energy

2.38
—2.4-
2.42 -
2,44
246
248
0 200 400 600 800
Legend

—— moment
——————————————————— MC
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